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1. (30%) 7E Brito et al. [1991] #yTAB AR T MFIEET [HfEHSHy
) A [ 2 ERHEE | WEBCRIES,

B B —BABRRRTHOERR (F110 SARS). BEHEPREEI A
R, WER L ERE R O, NI RT LUGET . LB RoE E E &
Z T ] (Nash) BEEEHEDT AR (None) EMERILZ T
Gl

(Ans) All, including both Vac and NoVac in original Nash, become worse off as they

are exposed to ever higher risk in None. For Vac people:
U(Vac | Nash) > U(NoVac | Nash) > U(NoVac| None)
For NonVac people:

U(NoVac| Nash) > U(NoVac| None) O

2. (30%) 7& Hirshleifer [1977] (@R FFIMITH S TERH, &6 —
{8 Rt F0 TETA] REAY. ALIKE R E RE A A& 5 B

(Ans) The distinguishment is:

e Altruistic type: tangency A is above the horizontal line passing point R.

> Hence A will be chosen by the other player.

e Selfish type: tangency B is below the horizontal line passing point R.
> Hence R will be prefered to B and chosen by the other player. O
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3. (40%) ME KR (1,2) EA Lindahl #miyH Xk E B2 EELH, BEM
ANZHE 2
Ui(r,y) = 7oy + y

Us(wa,y) = 6r2 + y
Hih o BRANBE, Tl ¢y BHEHETE. SWERZ TS EEESE:

p. = 1, p,=10
MWAZETEEE [ = I, = 100,

o M p RF i (=1,2) ArEAEREMZ Lindahl B, SEEHWAEH
BERIERITE KK v1(p1) K ya(p2)?

(Ans) Lindahl demand is:

n = .
0, otherwise

= Iy/py = 100/ps, if po < 1/6
? 0, otherwise
O

o A Lindahl H 2 HESRE v* Bf7?

(Ans) It is impossible to have:
p < 1/7, po < 1/6, p1+ps=p, =10

Hence they cannot reach a cost sharing agreement for any y* > 0, and Lindahl
outcome is:
pr>1/7, pe>1/6, p1+p,=10y"=0 O



